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3 BRIV AR OO mg/l | 0.003LAT || 0.00035K7H 0.0003A it - 0.0003 7t - = 0.0003 A ik - 0.00037% | 0.00034{# | 0.0003FKiH
4 |KBEUOZEOILAY mg/l | 0.0005L4 || 0.00005{# - 0.00005K 1 = 0.000055 0.00005K7# - 0.00005%1# | 0.0000551% | 0.000054 1
5 |ELURUEDLEY mg/1 0.01LLTF || 0.001K4 0.001 1% 0.00L K15 0.001 K 0.001Ki# | 0.0012K¥ | 0.0014H = =
6 PR OEO{LEY mg/1 0.01LATF || 0.0012KR7H 0.00L i 0.001 # T 0.001 K% 0.0015Ki# | 0.001AKJM | 0.001iH
7 |eRROCEO/ILEY mg/! 0.01LAF 0.003 0.001 A4 i 0.001 0.003 = 0.003 0.001 K1 = =
8 |AMizesbs mg/1 0.02LAF || 0.0027 - 0.002 % = 0.002:17% - 0.0025K 11 0.0025RT% | 0.0022R¥ | 0.0027K
9 |FERYEAERE R mg/ 0.04LLF || 0.0045k7 0.0045K1#% - 0.0042R1 3 0.00457# - = 0.0045K7% | 0.004Ki | 0.004 - -
10 > 7oA A4 RO T mg/| 0.01LLF || 0.001%i#% - - 0.001 /i - 0.001 1 = = 0.001 7% 0.0017#% | 0.001KH | 0.0014%H =
11 |HBERE=HE K O EHEA AR R mg/! 10BATF 0.3 0.3 - 0.4 0.3 - - 0.4 0.3 0.3 - -
12 |7yERVBEDNEH mg/1 0.8L4F 0.08 i = - 0.08KR 1 - - 0.08 i = 0.08 1 = 0.08K: 1% 0.08K 1 0.08: % -
13 |BRURRVEDEY mg/| LLOBLTF 0. 1417 - 0. 141 0. 1R 0. 1R - - 0. 1R 0. 147 0. 121 = =
14 | bR mg/l | 0.002ELF || 0.00024#; - - 0.0002K T - - 0.0002:A 7% - - 0.0002: 7% - 0.00027%5 | 0.000277# | 0.00025R1H -
15 (1 4-Tax9 mg/! 0.05LAT || 0.0051H e - 0.005% = = 0.0054 7% ~ 0.005 4 = - 0.005K4#% | 0.0055Ki% | 0.0054H = =
16 |or-re-vomnzsiogeigy s evrmaeire | omg/l 0.042LF || 0.0045%8 - - 0.0045K 1% — 0.00454 — - 0,004 - 0.0047% | 0.004 | 0.004547 -
L D22 g=1=3 Y % mg/1 0.02LLTF || 0.0027% = = 0.002K1% - - 0.0027 - 0.002:1% - - 0.0022R{ | 0.0027i | 0.002K7 -
B FhorapzFlLv mg/1 0.01LAF || 0.00055w 0.00057% = - 0.00057 = =~ 0.00057% = 0.0005:4%i5 | 0.00055K{#5 | 0.00055K:1H% = =
19 |NyurzFLy mg/1 0.0LLAF || 0.0012K1%H = = 0.001 i - = 0.001K{H - 0.001 KT - =~ 0.001R%% | 0.001R¥ | 0.0014m
20 |~vP mg/1 0.01LLF || 0.001%% - 0.0014:1# = - 0.001K = - 0.001 A7 - 0.001R7# | 0.001K¥ | 0.001H - -
21 |EFEEE mg/1 0.6LAF 0.06 = - 0.064 7 = 0.06:K:1i = - 0.063R 1 - - 0.06:41i 0.06K1 0.0647%
22 |/unEiE mg/| 0.02L4F || 0.002zk7% 0.0024:7#% = = 0.0024il = = 0.002K4 - 0.002:R7#% | 0.0027R% | 0.002KR7 - -
23 |rmmdkrs mg/| 0.06 L4 F 0.008 - - 0.008 - 0.007 0.006K1% - - 0.008 0.006K1H - -
24 |Prunpiig mg/| 0.03LLF 0.004 0.005 - - 0.00351% = - 0.003R - - 0.005 0.003K1 =
25 |7 uEsuniyy mg/! 0.12LF 0.015K - = 0.01FK7H - ~ 0.0 = 0.0147# = & 0.01K 7 0.01 A i 0.01 1% - -
26 |RFEE mg/| 0.01LATF || 0.001KiH% - - 0.001 5K = - 0.001R{#5 N - 0.001 & {# - - 0.001K¥% | 0.001R¥E | 0.001A%H p
P NP = o mg/] 0.1 TF 0.01 51 - - 0.01K¥# - 0.012k%H = 0.01 A1 = 0.01K7% 0.01K 1% 0.015K1H — -
28 |NouEER mg/I 0.03LAF 0.004 - - 0.004 - - 0.003K0 - - 0.003 i = - 0.004 0.003K1 = = =
29 |FwEdrunry mg/1 0.03LLTF || 0.003KiH = 0.003K1 0.003K i 0.003 1 - 0.003zR% | 0.003F&d | 0.003FKiw - -
30 |7 eERn mg/1 0.098LF || 0.0095KiH% - - 0.009 A% . - 0.0095k1 - - 0.009A i - - 0.0097% | 0.0095R7# | 0.0097ik - -
31 | RALTATFER mg/! 0.08ZLF || 0.008i% = 0.008K 1 0.008: 1 - 0.008 A7 = 0.00871% | 0.008Ki4 | 0.008F&iw - -
32 |EH K OEDLAEY mg/! LOLLTF 0.014:7% ~ - 0.01 - - 0.01K4% - - 0.01 1% = — 0.01 0.01 A7 = = =
33 | TNI=ULROEDLAY mg/| 0.2LLF 0.13 ~ 0.04 - 0.05 - 0.06 0.13 0.04 0.07 -
34 |BERUEOLEY mg/ 0.3LATF 0.10 - - 0.03:1%5 - - 0.03K1% = - 0.03K7% = = 0.10 0.03K1% = - =
35 |REUCEOLEY mg/1 LOLAT 0.025K 1 = 0.02%4 — - 0.023K 1 - - 0.02A4% - - 0.02K7 0.027% 0.025R 1% -
B FRIY AR O EDLE Y mg/1 20084 F 2.0 - 1.8 - - 1.9 - - 2.3 B - 2.3 1.8 2.0 - -
30 |\wr A RUFEDEY mg/! 0.0580 T 0.011 - - 0.005K7% - 0.005K 1 0.005K1H - 0.011 0.0055K 1
38 (A mg/I 200LLTF 1.1 1.3 1.1 1.3 1.3 1.4 1.3 1.4 1.5 1.4 1.7 1.4 1.7 1.1 1.4 - -
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40 |EHEEEY mg/| 500LL T 29 - 44 - - 42 - - 36 - - 44 29 38 - -
41 |ReAaA s RETEES mg/1 0.20LF 0.025K 7% - - 0.0247m = - 0.02R i g 0.024: 1% - 0,021 0.02 15 0.02R: 15
42 |C=A R mg/1  |0.00001L4 || 0.00000 1 A - 0.000001 7% | 0.000001 745 | 0.0000015:% | 0.0000015K7# | 0.000001 K7 - 0.000001 <% - - 0.00000157 0.00000151%| 0.000001 51 - -
43 2-AFNAYHNVRA — mg/1  ]0.00001L4 || 0.000001 7 - 0.000001>&{# | 0.000001 K1 | 0.000001 71 | 0.000001 A% | 0.000001 i = = 0.000001 2R3 = 0.000001 5% 0.000001 A7 0.000001 A7
44  |FEAA L REIEMER mg/ 0.02LLF || 0.002%% = = 0.0024i - - 0.002k 7% - - 0,002 1% = - 0.0025R¥ | 0.002:KR3 | 0.002:41H - -
45 |7 /—IR mg/l | 0.005LATF || 0.00055K7% 0.00055 14 - ~ 0.0005K 1 - = 0.0005 - 0.000557% | 0.00053% | 0.00055K1%
46 |EHY (£FRKE (TOC) DE) mg/1 LA 0.5 0.4 0.5 0.4 0.3R%% 0.4 0.3 0.4 0.3 0.3 0.5 0.5 0.5 0.3:K:5% - - -
47  |pHIA - 5.8L L8 654 7.3 7.4 7.4 7.2 7.3 7.4 7.3 7.3 7.4 7.4 7.3 7.4 7.4 7.2 7.3 B
48 ok gycihnzy| BEAL BERL BERL Bl BERL Bl BERL BERL HERL RERL HERL BHERL - = - - —
49 |BRR - gECHNE| BEARL BEiL BERL BERL Rl BE2L BERL WL Rl RERL HERL BEHL - - -
50 |BE E |suTrThoit 0.6 0.5 0.7 0.5 0.5 0.5 0.5 0.55R7ih 0.5 0.5 0.6 0.5%%% 0.7 0.5
51 |BE B e Toebssy| 0.1 0. 1R 0.1 0. 174 0. 1R7#% 0. 1R 0. 1R 0. LA 0. 145 0. 144 0.1 0. LR 0.1 0. LA - - -
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